GAUHATI HIGH COURT

(The High Court of Assam: Nagaland: Mizoram & Arunachal Pradesh)

Written Examination for Direct Recruitment of UDC for Subordinate Courts
of Arunachal Pradesh.
Date- 25.01.2015 (Sunday), Time- 2.00 P.M. to 4.00 P.M.

Total -100 marks Duration- 2 hours.

PART-A [GENERAL KNOWLEDGE]

(20 X 1=20 Marks)

1. Which of the following pairs are correctly matched?

List1 List II
i.  BRICS : Five member organisation
ii.  BASIC : Six member organisation
iii.  IBSA : Four member organization

Select the correct answer using the codes given below

(@) land 2 (b)2and 3 (c)Only 1 (d) All of these
2. Where is the National Academy of Agricultural Research Management located?
(a) Dehradun (b) Hyderabad (c) New Delhi (d) Itanagar
3. Regarding the International Monetary Fund, which one of the following statements

is correct?

(a) It can grant loans to any country

(b) It can grant loans to only developed countries

(¢) It can grant loan to only member countries

(d) It can grant loans to the central bank of a country.

4. Which of the following is the oldest Trade Union organization in India?
(a) INTUC (b) CITU (c) AITUC (d) BMS
5. Which one of the following United Nation Agency has given a membership to
Palestine?
(a) UNO (b) UNESCO (c) UNDP (d) All of these
6. Which one among the following is not a Millennium Development Goal of the
United Nations?
(a) Eradicate extreme poverty (b) Reduce birth rate and death rate
(c) Improve Maternal health (d) Promote gender equality

7. Which one of the following is not a member of ASEAN?
(a) Cambodia (b) Laos (c) Singapore (d) South Korea
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10.

11.

12,

13.

14.

15.

16.

17.

18.

In which state is the famous Tawang monastery located?
(a) Arunachal Pradesh (b) Jammu and Kashmir
(c) Himachal Pradesh (d) Uttarakhand

Which one of the following is not a member of * The Commonwealth’?
(a) Malaysia (b) Sri Lanka (c) Indonesia (d) Singapore

The Headquarters of Asian Development Bank is at
(a) Bangkok (b) Manila (¢) Singapore (d) Tokyo

Where is the Headquarters of the Southern Naval Command located?
(a) Arakkonam (b) Kochi (¢) Thiruvananthapuram (d) Vishakhapatnam

/

The Presidency of the Security Council of the United Nations is alternated every
(a) month (b) six months (c) year (d) two years

India’s “Look East Policy’

(i) was articulated during the reign of HD Deve Gowda as India’s Prime Minister

(ii) is directed towards South-East Asian countries

(iii) is about controlling terrorism

(iv) seeks to develop a bond among various countries on the basis of economic co-
operation.

Select the correct answer using the codes given below
(@)land 2 (b) 2and 3 (c)2and 4 (d)3and 4

In which one of the following States of India is the Pemayangtse Monastery situated?
(a) Nagaland (b) Himachal Pradesh (¢) Sikkim (d) Arunachal Pradesh

Which one of the following pairs is correctly matched?

UN-Organisations Headquarters
(a) UNESCO : Geneva

(b) IMF : Paris

(c) ILO : Washington
(d) UNIDO : Vienna

Who of the following came to India at the time of Jahangir as envoy of King James-I
of England?

(a) Lord Mornington  (b) Sir John Shore (c) George Barlow (d) William Hawkins

Varahmihir is NOT related to

(a) Mathematics (b) Astrology (c) Astronomy (d) Geography
Who is the ‘Grand Old Man in India’?

(a) Sardar Vallabhbhai Patel (b) Mohandas Karamchand Gandhi

(c) Dadabhai Naoroji (d) Bal Gangadhar Tilak
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19.  ‘International Non-violence Day’ is celebrated on
(a) 22nd January (b) 30t January () 27d October (d) 15% August

20.  The Headquarters of International Olympic Committee (IOC) is situated in
(a) England (b) Switzerland (c) Athens (d) Canada

PART-B [ENGLISH]

(40 X 1=40 Marks)
Instructions (for Q. No. 21 to 25): Select the correct word to fill in the blanks in the
following sentences from the given options.

21. Hecutthemango................ a knife.

(a) with (b) by (c) in (d) along
22, s all his faults, I love John.

(a) Despite (b) With (c) In (d) Before
23, his father’s death, the business came to an end.

(a) By (b) With (c) After (d) In
24. Ariverflows .....cooviviniininn the hillock.

(a) beyond (b) above (c) exceeding (d) upon
25. The train is running ....................... time.

(a) behind (b) after (c) beyond (d) besides

Instructions (for Q. No. 26 to 30): Fill in the blanks with the most effective word from the
given options.

26. Iwasamnoyed.................. Paul for arriving late.
(a) on (b) about (c) with (d) for
27.  Weare.....co.coeeuniinnn the possibility of buying our own house.
(a) judging (b) considering (c) applying (d) initiating
28.  The student did not pay .............. to the instructions that were given to her in class.
(a) ear (b) awareness . (c) notice (d)attention
29.  The young boy was unhurt ..................... for a minor injury to his knee.
(a) less (b) except (c) also (d) just
30. Thereis.....ccooeiiiniiniinin chance of seeing her again.................. she leaves.
(a) also, as (b) little, before (c) full, therefore (d) more, after

Instructions (for Q. No. 31 and 32): Choose the word from below, which is most OPPOSITE
in meaning of the word printed in bold.

31.  Scorching
(a) Cool (b) Heated (c) Warm (d) Silent
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32. Furious
(a) Beaming (b) Calm (c) Angry (d) Sulking

Instructions (for Q. No. 33 to 35): Choose the word which is most nearly SAME in meaning
as the word printed in bold.

33. Token

(a) Symbol (b) Insurance (c) Slip (d) Assurance
34. Deftly

(a) Blindly (b) Skillfully (c) Eagerly (d) Innocently
35. Auspicious

(a) Religious (b) Lucky (c) Fulfilling (d) Charming

Instructions (for Q. No. 36 and 37): Read each sentence to find out whether there is any
grammatical error in it. The error, if any, will be in one part of the sentence. The
option (a/b/c) before that part is the answer. If there is no error, the answer is (d) i.e.
‘No Error’. (Ignore the errors of punctuation, if any.)

36. (a) Poor people has no money/ (b) therefore they cannot afford / (c) proper medical
facilities. / (d) No error

37. (a) By the times/ (b) we reached the classroom, / (c) the lecture had already begun. /
(d) No error

Instructions (for Q. No. 38 to 42): In each question below words which are numbered (a),
' (b) and (c) have been printed, of which, one word may be wrongly spelt. The
number of that word is the answer. If all the four words are correctly spelt, mark
(d) i.e. “All Correct” as the answer.

38. (a) Accept (b) Receipt (c) Frequent (d) All correct
39. (a) Justice (b) Practice (c) Menace (d) All correct
40. (a) Complaint (b)-Altered (c) Hunged (d) All correct
41. (a) Remorse (b) Noble (c) Upsurge (d) All correct
42. (a) Blister (b) Warrant {c) Arrest (d) All correct

Instructions (for Q. No. 43 to 45): Choose the word OPPOSITE in meaning to the given

word.
43. FAMILIAR

(a) Unpleasant (b) Dangerous (c) Friendly (d) Strange
. SHRINK

a) Contract (b) Spoil (¢) Expand (d) Stretch
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45. REVEALED
(a) Denied (b) Concealed (c) Ignored (d)Overlooked

Instructions (for Q. No. 46 and 47): four alternatives are given for the idiom/ phrase in
underlined in the sentence. Choose the one which best expresses the meaning of

the idiomy/ phrase.
46. Don't lose patience, things will improve by and by.
(a) Soon (b) Finally (c) Gradually (d) Unexpectedly

47. The Prince did not take after the king.
(a) Run after (b) Follow (c) Precede (d) Resemble

Instructions (for Q. No. 48): In the following question, a sentence has been given in
Active Voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in passive voice.

48.  She spoke to the official on duty.

(a) The official on duty was spoken to by her.

(b)  The official was spoken to by her on duty.
(0) She was spoken to by the official on duty.

(d)  She was the official to be spoken to on duty.

Instructions (for Q. No. 49 to 51): In the following question, a sentence has been given in
Active Voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in passive voice.

49.  Choose the bestysynonym for the word “Magnanimous”:

(a) Laborious (b) Diligent (c) Generous (d) Authoritative
50.  Choose the best synonym for the word “Gregarious”:

(a) Rigorous (b) Sociable (c) Gigantic (d) Voluminous
51.  Choose the best antonym for the word “Tumultuous”:

(a) Melodious (b) Turbulent (c) Peaceful (d) Discordant

Instructions (for Q. No. 52 and 53): Choose the expression nearest in meaning to the
underline portion:

52. Her father was pennywise pound foolish
(a) Care for small things (b) Being foolish
(c) Careless of large issues (d) Lose big matters

53.  The members argued for a long time but could not see eye to eye
(a) Come to a conclusion (b) Could not agree
(¢) Did not understand (d) Be friendly
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Instructions (for Q. No. 54): Choose the pair from the options that is similar in relationship
to the one expressed in the pair given in bold:

54. Constellation: Stars
(a) Center:Circle (b)Earth:Moon (c) Rain: Water  (d) Archipelago : Islands

Instructions (for Q. No. 55 and 56): Choose the meaning of the following idioms and
phrases:

55. Stand on ceremony
(a) Casual approach (b) Act with reserve (c) Lead from front (d) None of these

56. Gift of the gab
(@) Beyond control  (b) To blunder (c) A talent for speaking (d) Lovable

Instructions (for Q. No. 57): Choose OPPOSITE of the given word:

57.  Probity
(a) Trust (b) Deception (c) Permit (d) Support

Instructions (for Q. No. 58 and 60): Complete the sentence with the most appropriate word
from the given choices: '
58. Outgoing and by nature, Kavita became even more gregarious at the school

party

(a) Affable (b) Reclusive (e) Solitary (d) Withdrawn
59.  The District Collector the Minister about the flood situation

(a) Appraised (b) Acquainted (c) Apprised (d) Provided

60. Find the opposite meaning of the word “Random”:
(a) Accidental (b) Haphazard (c) Incidental (d) Deliberate

PART-C [GENERAL INTELLIGENCE]
(40 X 1=40 Marks)

Instructions (for Q. No. 61 to 65): Choose the correct answer.
61. Which is the following is not alike in certain away
(a) Iron (b) Copper (c) Ceramic (d) Gold.

62.  Ina class of 40 children, Saurabh’s rank is eighth from the top. Mamta is five ranks
below Saurabh. What is Mamta’s rank from the bottom?
(a) 27 (b) 29t (c) 28w (d) 26t

63. How many meaningful English words can be formed with the letters ABKC using

each letter only once in each word? ( All the four letters to be used in the word).
(a) None (b) One (c) Two (d) Three
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64.

65.

‘2" is subtracted from each odd digit and ‘1’ is added to each even digit in the
number 7652348. Which of the following will be the sum of the second digit from the
right and the third digit from the left of the new number thus formed?

(@) 10 (b) 8 (c) 4 (d)6

Which of the following will come in place of the question mark?
ZX YV Ws ? PJ
(a) TO (b) IN (¢ UO (d) SO

Instructions (for Q. No. 66 to 70): Study the following information carefully and answer

the questions given below:

A, B,C, D, P, Q, R and S are sitting around a circle facing the centre. P is third to the left
of A and R is second to the right of A. Q is not an immediate neighbor of either P or R.
C sits third to the right of B and S sits exactly between C and R.

66.

67.

68.

70.

Who sits between Pand S ?
(@ D (b) R () Q (dC

How many persons sit between A and P when counted in anti-clockwise direction
from A? ‘

(a) One (b) Two (c) Three (d) Four

Who is sitting to the immediate right of A?
@Q (b) R (€D (4B

Four of the following five are similar in a certain way based on their positions in the
seating arrangement and so form a group. Which of the following does not belong to
that group?

(a) QD (b) CS (c) AB (d) SR

What is S’s position with respect to D?
(a) Third to the left (b) Third to the right
(c) Second to the left (d) Immediate right

Instructions (for Q. No. 71 to 75): Study the following information carefully and answer the

questions given below:

In each question below are three statements followed by two conclusions numbered I
and IL You have to take the three given statements to be true even if they seem to be at
variance from commonly known facts and then decide which of the given conclusions
logically follows from the three statements disregarding commonly known facts.

Give answer-

(a) if only Conclusion I follows.

(b)  if only Conclusion II follows.

() if either Conclusion I or Conclusion II follows.
(d) if neither Conclusion I nor Conclusion II follows.
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71.

72.

73.

74.

75.

Statement:

Some black are blue.

No blue are white.

Some white which are black are grey

Conclusion:

L. Some grey are blue. II. Some white are not black.

Statement:

All villages are cities.

All cities are countries.

All countries are towns.

Conclusion:

L. All towns are village. I. Some cities are not town.

Statement:

Some books are poetry.

All poetry is philosophy.

Some philosophy is psychology.

Conclusion:

L. Some books are psychology. II. Some psychology is not philosophy.

Statement:

All children are students.

Some students are adults.

All students are workers.

Conclusion:

I. Some students are workers. II. All children are adults.

Statement:

Some actors are dancers.

All dancers are musicians.

No musicians are painters.

Conclusion:

L. Some painters are actors. II. No painters are dancers.

Instructions (for Q. No. 76 to 81): Choose the correct option.

76.

77.

78.

Which of the following you must add to 18435 to make it 196247
(a) 1199 (b) 1104 (c) 1189 (d) 1114

IfA= Y BandB= % C, then A:B:Cis
(a) 8:4:1 (b) 4:2:1 (c) 1:4:8 (d) 1:2:4

The wrong (misfit) number of the sequence 3,15, 75, 375, 1575 is ...........
(a) 75 (b) 375 (c) 1575 (d) 9375
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79.

80.

81.

If the difference between the selling prices of an article are profit of 6% and 4% is
Rs.3, then the cost price of the article should be:

(a) Rs.100 (b) Rs. 150 (c) Rs.175 (d) Rs.200

Twenty women together can complete a work in 16 days. 16 men together can
complete the same work in 15 days. The ratio of the working capacity of a man to
that of a woman is:

(a) 3:4 (b) 4:3 (c) 5:3 (d) 4:5

A merchant sold an article for Rs.75 at a profit percent equal to his cost price. The
cost price of the article was:

(a) Rs45 (b) Rs.50 (c) Rs.54 (d) Rs.60

Instructions (for Q. No. 82 to 86): In these questions, select the related

82.

83.

84.

85.

86

letter/word/number/figure from the given alternatives:

6:35::7:7?

(a) 48 (b) 42 (c) 34 (d) 13
VXZ:JLN:GIK: ?

(a) QSO (b) QRS (c) OQS (d) LMO

Dog: Rabies:: Mosquito: ?
(a) Plague (b) Death (c) Malaria (d) Sting

Clock: Time:Thermometer: ?
(a) Heat (b) Radiation (c) Energy (d) Temperature

Receptionist: Office:: Hostess: ?
(a) Crew (b) Host (c) Airport (d) Aircraft

Instructions (for Q. No. 87 to 92): In these questions, select the one which is different

87.

88.

89.

90.

91.

92.

from the other three responses:

(a) MKO (b) QSO (c) VTX (d) DBF

(a) September (b) April (c) November (d) January
(a) (48,6) (b) (2L,7) (c) (24.3) (d)(56,7)
(a) Carbon (b) Graphite (c) Diamond (d) Gold
(a) Iron | (b) Mercury (c) Silver (d) Gold
(a) 49 (b) 140 () 112 (d) 97
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Instructions (for Q. No. 93 to 100): Choose the correct option.

93.

94.

95.

96.

97.

98.

99.

100.

Ravi’s father has a son Rohit who has an aunt Laxmi who has a husband Rao whose
father-in-law is Mohan. What is the relation of Mohan to Ravi?
(a) Nephew (b) Grandfather (c) Son (d) Uncle.

In a solid cube which is made up of 27 small cubes, two opposite sides are painted
red, two painted yellow and the other two with white. How many cubes have two
colours?

(a) 8 (b) 12 ()16 (d) 24

If you are 9% person in a queue starting from one end and 11t from another end,
what is the number of persons in the queue?
(a) 20 (b) 19 (921 (d) 18

Five students are sitting in a row. ‘T’ is on the right of “Z’. ‘M’ is on the left of ‘Z’ but
is on the right of “L” . “T" is on the left of ‘QY". Who is sitting first from the left?
(@) Z (b) Q (T (d) L

Select the word which is different from others.
(a) XRMKL (b) XRMIF (c) XRNL]J (d) XSNLJ

Shyam was facing East. He walked 5 km forward and then after turning to his right
walked 3 km. Again he turned to his right and walked 4 kms. After this he turned
back. Which direction was he facing at that time?

(a) East (b) West (c) North (d) South

From the given alternative words, select, the word which cannot be formed using the
letters of the given word:

SUPERIORITY
(a) PURSE (b) PURSUIT (c) PRIORITY (d) PURITY

If BEAUTIFUL is written as CDOGHJKMN, how LEAF can be written in that code?
(a) NDOK (b) KNND (c) ODNK (d) DKON

R I N T L LTt
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